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Solve:
1) A survey of 250 people showed that 220 people favored a candidate for re-election. What
percent of the people surveyed favored the candidate?

2) A salesperson at a dress shop sold $1,200 worth of clothes and earned a commission of
$210. What is his commission percent?

3)  There were 13,426 eligible voters for a certain election. On election day 8,206 people cast
their vote. What was the percent of voter turn-out?
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4) A merchant sold 3,500 hats in one month. If she purchased 4000 hats, what percent of the
hats purchased were sold?

5) A house painter has an annual income of $35,000 and paid $2,500 in income tax. What
percent of her income is the income tax?

8) An investor received a dividend of $550 on an investment of $4000. What percent of the
investment is the dividend?
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7) Bernie was earning $12.60 an hour. He received a raise of $1.07. What percent was his
raise?

8) A family with a monthly income of $2200 spends $850 for rent $225 for utilities and $325 for
food. What percent of the family income is spent for each?
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Solving Percent Application Problems

Strategy:
Read the Problem
Recognize the three elements of the percent equation:
Percent, Base, and Part
Percent has percent sign %, Base follows the word "of' ("of' means
multiply), Part is compared to the base. ("Part" is not always less than
"Base" value)
Put into the equation:
Percent x Base = Part

An electrician’s hourly wage is $14.50 before and 8% raise. How much will the raise
be? (Hint: The raise is a percent of the wage: 8% of $14.50)

8% of $14.50 = Raise Recognize the elements

8% x $14.50 =7 Form the equation

0.08 x $14.50 = $1.1600 Write the percent as a decimal and multiply
The raise will be $1.16
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Solve:

1) You buy a television which costs $550 and pay a 5% sales tax. What is the tax?

2) A quality control inspector found that 1.3% of 1500 computers inspected were defective.
How many computers were defective?

3) In a college election, the winning candidate got 58% of the 368 votes that were cast.
How many votes did the winner receive?
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4) A business was given an income tax credit of 8% on the cost of its computer. If(?ﬁe
computer cost $2200, how much was the tax credit?

5) A solution of a battery is 14% sulfuric acid. If we have 9 gallons of the solution, how
much of it is acid?

8) A one-year-old baby often weighs 400% of its birth weight. What should a one year old
baby weigh if it was 8 pounds at birth?
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7) A seller pays a real estate commission of 7.5% of the sales price. How much
commission would be on a $130,000 house?

8) Ordinary brass contains 61.6% copper, 2.9% lead, 0.2% tin and 35.3% zinc. How many
pounds of each metal would be in 160 Ib. of brass?

(10)
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Application Problems for Finding a Percent

Strategy:

Read the Problem

Recognize the three elements of the percent equation:

Percent, Base, and Part
Percent has percent sign %, Base follows the word "of" ("of' means

multiply), Partis compared to the base. ("Part" is not always less than
"Base" value)

Put into the equation: Percent x Base = Part

A student correctly answered 32 out of 40 questions on a test. What percent of the
questions did the student answer correctly?
What percent of 40 is 32?  Translate to math

n% x 40 = 32 Using the fraction bar, divide both sides of equation by 40
n% _32 Reduce the fraction

40

4 Write the fraction as a percent
n% =3

n% = 80% The student correctly answered 80% of the questions.





